FONTLAB FONT PRINTOUT

VintageDecorativeSigns14 1115014 18:49:16
Page 1/1

¥

%
2

a

Index: 0, Unicode:

Nodes: 528, Contours: 26
BBox: (0, 0) - (2800, 820)
LSB: 0, RSB: 2, Width: 2802
Ish: 473, rsb: 476, width: 1853

[

Index: 2, Unicode: 0063
Nodes: 381, Contours: 13
BBox: (0, 0) - (2792, 416)
LSB: 0, RSB: 6, Width: 2798
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Index: 8, Unicode: 0069
Nodes: 556, Contours: 2
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Index: 1, Unicode: 0062
Nodes: 367, Contours: 17
BBox: (0, 0) - (2792, 496)
LSB: 0, RSB: 10, Width: 2802
Isb: 996, rsh: 1002, width: 804
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Index: 3, Unicode: 0064
Nodes: 305, Contours: 27
BBox: (0, 0) - (2796, 548)
LSB: 0, RSB: 2, Width: 2798

(@252 )| Isb: 31, rsb: 25, width: 2742 PES Isb: 1165, rsb: 17, width: 1616
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Index: 4, Unicode: 0065 Index: 5, Unicode: 0066
Nodes: 453, Contours: 21 Nodes: 774, Contours: 10
BBox: (0, 0) - (280089:8) BSBox: o, g) - (2800d, ﬁ048)
g LSB: 0, RSB: -2, Width: 2798 LSB: 0, RSB: 6, Width: 2806
OE Ish: 700, rsb: 695, width: 1403 | Ish: 456, rsh: 476, width: 1874
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Index: 6, Unicode: 0067 Index: 7, Unicode: 0068
Nodes: 638, Contours: 44 Nodes: 719, Contours: 47
BBox: (0, 0) - (2800, 812) BBox: (0, 0) - (2764, 836)
\ \ V LSB: 0, RSB: 6, Width: 2806 LSB: 0, RSB: 34, Width: 2798
SIS ENZ idth SB: 0, RS idth
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Y XK Ish: 12, rsh: 6, width: 2788 Ish: 712, rsh: 705, width: 1381
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Index: 9, Unicode: 006A
Nodes: 520, Contours: 19

BBox: (0, 0) - (2800, 1584) iy BBox: (0, 0) - (2800, 1392)
LSB: 0, RSB: 2, Width: 2802 e OA LSB: 0, RSB: 2, Width: 2802
Ish: 378, rsb: 5, width: 2419 > . (“") Ish: 0, rsh: 3, width: 2799
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Index: 10, Unicode: 006B
Nodes: 304, Contours: 4
BBox: (0, 0) - (2796, 1168)
LSB: 0, RSB: 2, Width: 2798
Ish: 24, rsh: 28, width: 2746
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Index: 12, Unicode: 006D
Nodes: 549, Contours: 29
BBox: (0, 0) - (2796, 804)
LSB: 0, RSB: 2, Width: 2798
Ish: 2, rsb: 2, width: 2794
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Index: 14, Unicode: 006F
Nodes: 502, Contours: 7
BBox: (0, 0) - (2800, 1012)
LSB: 0, RSB: -2, Width: 2798
Ish: 3, rsh: 4, width: 2791
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Index: 16, Unicode: 0071
Nodes: 1057, Contours: 55
BBox: (0, 0) - (2800, 956)
LSB: 0, RSB: 6, Width: 2806
Ish: 291, rsh: 955, width: 1560
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Index: 18, Unicode: 0073
Nodes: 206, Contours: 10
BBox: (0, 0) - (2800, 1080)
LSB: 0, RSB: 2, Width: 2802
Isb: 62, rsb: 63, width: 2677
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Index: 20, Unicode: 0075
Nodes: 403, Contours: 8
BBox: (0, 0) - (2800, 1096)
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Index: 11, Unicode: 006C
Nodes: 5457, Contours: 262
BBox: (0, 0) - (2800, 832)
LSB: 0, RSB: 2, Width: 2802
Isb: 0, rsh: 2, width: 2800
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Index: 13, Unicode: 006E
Nodes: 459, Contours: 8
BBox: (0, 0) - (2796, 492)
LSB: 0, RSB: 2, Width: 2798
Isb: 537, rsh: 532, width: 1729
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Index: 15, Unicode: 0070
Nodes: 1206, Contours: 55
BBox: (0, 0) - (2800, 692)
LSB: 0, RSB: 2, Width: 2802
Isb: 961, rsb: 858, width: 983
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Index: 17, Unicode: 0072
Nodes: 574, Contours: 9
BBox: (0, -440) - (2800, 1860)
LSB: 0, RSB: -6, Width: 2794
Isb: 698, rsh: 650, width: 1446
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Index: 19, Unicode: 0074
Nodes: 1879, Contours: 227
BBox: (0, 0) - (2800, 548)
LSB: 0, RSB: -2, Width: 2798
Isb: 455, rsh: 378, width: 1965
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Index: 21, Unicode: 0076
Nodes: 798, Contours: 25
BBox: (0, 0) - (2800, 880)

~ J LSB: 0, RSB: 10, Width: 2810 S 0% , LSB: 0, RSB: 2, Width: 2802
\JJ\/ Ish: 4, rsh: 11, width: 2795 u{%@l&)f, VS Ish: 352, rsh: 302, width: 2148
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Index: 22, Unicode: 0077 Index: 23, Unicode: 0078
Nodes: 641, Contours: 12 Nodes: 313, Contours: 13
BBox: (0, 0) - (2800d, ;12) BSBox: o, g) - (2800d, 308)
) LSB: 0, RSB: 6, Width: 2806 LSB: 0, RSB: 2, Width: 2802
N NOF Isb: 163, rsb: 169, width: 2474 W Isb: 845, rsb: 840, width: 1117
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Index: 24, Unicode: 0079 Index: 25, Unicode: 007A
Nodes: 969, Contours: 73 Nodes: 399, Contours: 33
BBox: (0, 0) - (2800, 620) BBox: (0, 0) - (2800, 808)
Y aan\Wazse [ LSB: 0, RSB: 6, Width: 2806 LSB: 0, RSB: -2, Width: 2798
NSV AEYRA|  Isb: 2, rsb: 6, width: 2798 Isb: 116, rsh: 606, width: 2076



